SEMuitRBEREPEERZHREN LR (112F147)

B HA HRA £ BRAR
1120103| M E&E 5,000] % £2 &
1120109|#R &7 18,000] % 2%
1120110|ZR = 7,500] 2 %
1120112/ EE 3,000 % £ %
1120113|sB L SEFeE | 15,000]% £
1120113|EEBMREE 910|EE Mt
1120119|s2 R 1,000|fe EE AR EAHB LR - HHERIBHERE LB
1120119|3& = 1,000|fe B RAREAHERE - WHERBHE RGBS
1120119| 2258 3,000 ERERREAHBRE - PHESIBHUB LB HLEEH
1120119|E &&= 10,000|fe ER2RRIZAHBRE - PHESIRUB LB EEH
1120119|FFMF5 10,000|e EERRZAHBRE - PHESIBHB LB HLEEH
1120119| £ &2E 3,000|{e ERERRIEAHBRE - PHESIRAUBREAEEH
112011958 =& 3,000 EBRNREAHBRE - PHESIBHUB LB ALEEH
1120119|=4hsk 3,000|{e ERERARIEAHBRE - PHESIRAUBRELEEH
1120119|F &% 1,000|fe EE AR EAHBRRE - HHERBHERE LB
1120119|=&=# 6,000 ER2RRIEHHAB LR - PESIRUBREALEEH
1120119|Brs=22 20,000|fe EERFRREHNDB LR - WESHEHABRELEEE
1120119|B & 9,000 2R RIEHABLURE - PHESIRAU BB EEH
1120119| & 3,000 EBRREAHBRE - PHESBEHUB LB HLEEH
1120119|5R ¥ =X 3,000|{e ERERAREAHBRE - PHESIRAUB LB EEH
1120119| 5= 3,000 EBRREAHBRE - PHESIBHUB LB AEEH
1120119|BRE=E 3,000|{e ERERAREAHBRE - PHESIRAUB LB EEH
1120119\ 3,000 ERBRREAHBRE - PHESIBHUB LB ALEEH
1120119|=E 8 1,000] % £ &
1120119|5&R&= 3,000 & £ %
1120119| MR EE 2,000] % /%
1120119| =4 2,000 % £Rx
1120119|21 A3k 15,000] % £/




